



ORIGINAL ARTICLE

Equations of motion for zeros of orthogonal polynomials related to the Toda lattices

Mourad E.H. Ismail ^{a,b,*}, Wen-Xiu Ma ^c

^a Department of Mathematics, City University of Hong Kong, Tat Chee Avenue, Kowloon, Hong Kong

^b King Saud University, Department of Mathematic, P.O. Box 2455, Riyadh 11451, Saudi Arabia

^c Department of Mathematics, University of South Florida, Tampa 33620, USA

Received 22 June 2010; accepted 25 September 2010

Available online 17 December 2010

KEYWORDS

Zeros of orthogonal polynomials;
Discriminants;
Partition function;
Motions of zeros

Abstract We study the motion of zeros of time dependent orthogonal polynomials. We also relate the tau function of a Toda type lattice to the discriminant of the corresponding orthogonal polynomials which is then related to the free energy of an electrostatic equilibrium problem.

© 2011 King Saud University. Production and hosting by Elsevier B.V.
All rights reserved.

1. Preliminaries

The purpose of this paper is twofold. First we study the motion of zeros of time dependent orthogonal polynomials. Second we relate the tau function of a Toda type lattice to the discriminant of the corresponding orthogonal polynomials which is then related to the free energy of an electrostatic equilibrium problem.

* Corresponding author at: King Saud University, Department of Mathematic, P.O. Box 2455, Riyadh 11451, Saudi Arabia.

E-mail addresses: ismail@math.ucf.edu (M.E.H. Ismail), mawx@math.usf.edu (W.-X. Ma).

1319-5166 © 2011 King Saud University. Production and hosting by Elsevier B.V. All rights reserved.

Peer review under responsibility of King Saud University.

doi:10.1016/j.ajmsc.2010.06.001



Production and hosting by Elsevier

Both questions will be addressed in Section 3. In order to explain our results we state general prerequisites in the rest of Section 1 while Section 2 is devoted to exploring the connection between orthogonal polynomials and Toda lattices.

Given a probability measure μ one constructs a unique set of orthonormal polynomials $\{p_{n(x)}\}$ with positive leading terms. These polynomials satisfy a three term recurrence relation (Szegő et al., 1975).

$$xp_n(x) = a_{n+1}p_{n+1}(x) + \alpha_n p_n(x) + a_n p_{n-1}(x), \quad n \geq 0 \quad (1.1)$$

with

$$a_0 p_{-1}(x) := 0, \quad p_0(x) := 1. \quad (1.2)$$

Let μ be absolutely continuous, supported on $[a, b]$ with

$$\mu'(x) = w(x) = e^{-v(x)} \quad (1.3)$$

and assume that v is differentiable and the integrals

$$\int_R \frac{v'(x) - v'(y)}{x - y} y^n w(y) dy, \quad (1.4)$$

exist for $n = 0, 1, \dots$. Then the polynomials $\{p_n(x)\}$ satisfy the differential recurrence relation (Chen Y and Ismail, 1997)

$$p'_n(x) = A_n(x)p_{n-1}(x) - B_n(x)p_n(x), \quad n > 0, \quad (1.5)$$

where

$$\frac{A_n(x)}{a_n} := \left[\frac{w(y)p_n^2(y)}{y - x} \right]_a^b + \int_{\mathbb{R}} \frac{v'(x) - v'(y)}{x - y} p_n^2(y) w(y) dy. \quad (1.6)$$

When the condition $w(x)x^n \rightarrow 0$ as $x \rightarrow \pm\infty$ is not satisfied the right-hand side of (1.5) will have boundary terms (Chen Y and Ismail, 1997).

Recall that the discriminant of a polynomial f is defined by:

$$D(f) = \gamma^{2n-2} \prod_{1 \leq j < k \leq n} (x_j - x_k)^2, \quad \text{when } f = \gamma \prod_{j=1}^n (x - x_j). \quad (1.7)$$

Ismail (1998) proved that the discriminant of p_n is given by:

$$D(p_n) = \left[\prod_{j=1}^n \frac{A_n(x_{n,j})}{a_n} \right] \prod_{k=1}^n a_k^{2k+2-2n}, \quad (1.8)$$

see also Chapter 3 in Ismail (2005). This extends results of Stieltjes and Hilbert from Jacobi polynomials to general orthogonal polynomials.

Next we state the electrostatic equilibrium problem of a Coulomb gas in one-dimension. Consider n movable unit charged particles in an electric field with potential v . The particles interact according to the logarithmic potential $-2e_1 e_2 \ln|x - y|$. In addition the presence of the particles in the external field creates an additional field whose potential is $\ln A_n(x)/a_n$, where A_n arise from v

via (1.3) and (1.6) and the assumptions in (1.4) hold. Ismail (2000) proved that when $v(x)$ and $v(x) + \ln A_n(x)/a_n$ are convex functions the movable charges will reach a unique electrostatic equilibrium position where the particles are located at the zeros of $p_n(x)$. He also gave a closed form expression for the energy at equilibrium. This is reproduced in Ismail (2005).

The partition function associated with the weight function w in (1.3) is

$$Z_n := \int_{\mathbb{R}^n} \prod_{1 \leq j < k \leq n} (x_j - x_k)^2 \exp \left(- \sum_{j=1}^n v(x_j) \right) dx_1 dx_2 \dots dx_n, \quad (1.9)$$

while the tau function is

$$\tau := Z_n/n!. \quad (1.10)$$

The partition and tau functions are functions of the parameters in v .

2. Orthogonal polynomials and Toda lattice

Let $\mathbf{t} = (t_1, t_2, \dots, t_M)$ with $M \geq 1$ and $x \in \mathbb{R}$. The t_j s are time parameters. In this section we allow v to depend on these time parameters in a specified manner, hence the recursion coefficients a_n and α_n depend on \mathbf{t} and will be denoted by $a_n(\mathbf{t})$ and $\alpha_n(\mathbf{t})$, respectively.

We consider the following time-dependent measure $dv(x, \mathbf{t})$ over an interval $K \subseteq \mathbb{R}$ as

$$dv(x, \mathbf{t}) = \frac{1}{\zeta(\mathbf{t})} \exp \left(- \sum_{l=1}^M t_l x^l \right) d\mu(x), \quad \zeta(\mathbf{t}) = \int_K \exp \left(- \sum_{l=1}^M t_l x^l \right) d\mu(x). \quad (2.1)$$

Assume that $\{p_n(x, \mathbf{t})\}_0^\infty$ are orthonormal polynomials in x and $\{P_n(x, \mathbf{t})\}_0^\infty$ are the corresponding monic polynomials in x orthogonal with respect to $v(x, \mathbf{t})$ over K , where p_n and P_n have exact degree n . Let

$$\beta_n(\mathbf{t}) = a_n^2(\mathbf{t}). \quad (2.2)$$

From (1.1) and (1.2) it follows that

$$P_n(x, \mathbf{t}) = \left[\prod_{i=1}^n a_i(\mathbf{t}) \right] p_n(x, \mathbf{t}), \quad \int_K P_n^2(x, \mathbf{t}) dv(x, \mathbf{t}) = \prod_{i=1}^n \beta_i(\mathbf{t}). \quad (2.3)$$

The recursion relations for P_n and p_n are (Andrews et al., 1999):

$$xP_n(x, \mathbf{t}) = P_{n+1}(x, \mathbf{t}) + \alpha_n(\mathbf{t})P_n(x, \mathbf{t}) + \beta_n(\mathbf{t})P_{n-1}(x, \mathbf{t}), \quad n \geq 0 \quad (2.4)$$

and

$$xp_n(x, \mathbf{t}) = a_{n+1}(\mathbf{t})p_{n+1}(x, \mathbf{t}) + \alpha_n(\mathbf{t})p_n(x, \mathbf{t}) + a_n(\mathbf{t})p_{n-1}(x, \mathbf{t}), \quad n \geq 0 \quad (2.5)$$

respectively, where, $n \geq 1$, $\beta_0(\mathbf{t}) = a_0(\mathbf{t}) = 0$ and $P_0(x, \mathbf{t}) = p_0(x, \mathbf{t}) = 1$.

Let Q be the semi-infinite matrix

$$Q = Q(\mathbf{t}) := \begin{bmatrix} \alpha_0(\mathbf{t}) & 1 & & & & 0 \\ \beta_1(\mathbf{t}) & \alpha_1(\mathbf{t}) & 1 & & & \\ & \ddots & \ddots & \ddots & & \\ & & \beta_n(\mathbf{t}) & \alpha_n(\mathbf{t}) & 1 & \\ 0 & & & \ddots & \ddots & \ddots \end{bmatrix}. \quad (2.6)$$

The coefficients $\alpha_n(\mathbf{t})$ and $\beta_n(\mathbf{t})$ in (2.4) satisfy the systems of differential–difference equations, see [Deift et al. \(1999\)](#), or [Toda et al. \(1989\)](#).

$$\dot{Q} = \frac{\partial}{\partial t_l} Q = [Q, (Q^l)_+], \quad 1 \leq l \leq M, \quad (2.7)$$

where “dot” denotes the partial derivative with respect to the time variable t_l , A_+ means to select the upper triangle part (including entries in the diagonal) of a matrix A .

All systems of equations in (2.7) are called the Toda lattices, since the first one with t_1 is exactly the Toda lattice ([Toda et al., 1989](#)). The first two Toda lattices in the hierarchy (2.7) are

$$\frac{\partial}{\partial t_1} \alpha_n(\mathbf{t}) = \beta_n(\mathbf{t}) - \beta_{n+1}(\mathbf{t}), \quad \frac{\partial}{\partial t_1} \beta_n(\mathbf{t}) = \beta_n(\mathbf{t})(\alpha_{n-1}(\mathbf{t}) - \alpha_n(\mathbf{t})) \quad (2.8)$$

and

$$\begin{aligned} \frac{\partial}{\partial t_2} \alpha_n(\mathbf{t}) &= \beta_n(\mathbf{t})(\alpha_{n-1}(\mathbf{t}) + \alpha_n(\mathbf{t})) - \beta_{n+1}(\mathbf{t})(\alpha_n(\mathbf{t}) + \alpha_{n+1}(\mathbf{t})), \\ \frac{\partial}{\partial t_2} \beta_n(\mathbf{t}) &= \beta_n(\mathbf{t})(\alpha_{n-1}^2(\mathbf{t}) - \alpha_n^2(\mathbf{t}) - \beta_{n+1}(\mathbf{t})), \end{aligned} \quad (2.9)$$

where $n \geq 0$ and $\alpha_{-1}(\mathbf{t}) = 0$. The above time-dependent orthogonal polynomials play an important role in the study of the Toda lattices ([Adler and van Moerbeke, 1995](#); [Chen et al., 1998](#)).

Another important fact is that the orthonormal polynomials $\{p_n(x, \mathbf{t})\}_{n=0}^{\infty}$ satisfy the differential–difference relations

$$\frac{\partial}{\partial x} p_n(x, \mathbf{t}) = A_n(x, \mathbf{t})p_{n-1}(x, \mathbf{t}) - B_n(x, \mathbf{t})p_n(x, \mathbf{t}), \quad n \geq 1, \quad (2.10)$$

provided that the function $v(x)$ determined by

$$d\mu(x) = e^{-v(x)} dx \quad (2.11)$$

is twice continuously differentiable for all x in K . Moreover, if $v(x, \mathbf{t})$ has finite moments of all orders on $K = (a, b) \subseteq \mathbb{R}$ (when $d\mu(x)$ has unbounded support) and $v(a^+, \mathbf{t}) = v(b^-, \mathbf{t}) = 0$, then A_n and B_n can be computed by [Chen Y and Ismail \(1997\)](#):

$$\begin{aligned}
A_n(x, \mathbf{t}) &= a_n(\mathbf{t}) \int_a^b \frac{v'(x) - v'(y) + \sum_{s=1}^M s t_s (x^{s-1} - y^{s-1})}{x - y} p_n^2(y, \mathbf{t}) dv(x, \mathbf{t}), \\
B_n(x, \mathbf{t}) &= a_n(\mathbf{t}) \int_a^b \frac{v'(x) - v'(y) + \sum_{s=1}^M s t_s (x^{s-1} - y^{s-1})}{x - y} p_n(y, \mathbf{t}) p_{n-1}(y, \mathbf{t}) dv(x, \mathbf{t}),
\end{aligned} \tag{2.12}$$

where v' denotes the derivative of v with respect to x . Here we assumed that those two integrals exist.

3. Equations of motion for zeros

Note that the three term recurrence relation (2.4) can be rewritten as

$$xP(x, \mathbf{t}) = Q(\mathbf{t})P(x, \mathbf{t}), \quad P(x, \mathbf{t}) = (P_0(x, \mathbf{t}), P_1(x, \mathbf{t}), \dots, P_n(x, \mathbf{t}), \dots)^T, \tag{3.1}$$

where the semi-infinite matrix Q is defined by (2.6). It then follows that

$$x^l P_n(x, \mathbf{t}) = \sum_{i=\max\{0, n-l\}}^{n+l} r_{n,i}^{(l)}(\mathbf{t}) P_i(x, \mathbf{t}), \quad l \geq 1, \tag{3.2}$$

where all $r_{n,i}^{(l)}(\mathbf{t})$ are functions of $\alpha_j(\mathbf{t})$ and $\beta_j(\mathbf{t})$, $0 \leq j \leq n+l-1$ satisfying $(r_{n,i}^{(l)}) = Q^l$. For example, when $l=2$, we have

$$\begin{aligned}
x^2 P_n(x, \mathbf{t}) &= P_{n+2}(x, \mathbf{t}) + [\alpha_{n+1}(\mathbf{t}) + \alpha_n(\mathbf{t})] P_{n+1} + [\beta_{n+1}(\mathbf{t}) + \alpha_n^2(\mathbf{t}) \\
&\quad + \beta_n(\mathbf{t})] P_n(x, \mathbf{t}) + \beta_n(\mathbf{t})(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})) P_{n-1}(x, \mathbf{t}) \\
&\quad + \beta_n(\mathbf{t}) \beta_{n-1}(\mathbf{t}) P_{n-2}(x, \mathbf{t})
\end{aligned} \tag{3.3}$$

and thus

$$\begin{cases} r_{n,n-2}^{(l)}(\mathbf{t}) = \beta_n(\mathbf{t}) \beta_{n-1}(\mathbf{t}), & r_{n,n-1}^{(l)}(\mathbf{t}) = \beta_n(\mathbf{t})(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})), \\ r_{n,n}^{(l)}(\mathbf{t}) = \beta_{n+1}(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + \beta_n(\mathbf{t}), \\ r_{n,n+1}^{(l)}(\mathbf{t}) = \alpha_{n+1}(\mathbf{t}) + \alpha_n(\mathbf{t}), & r_{n,n+2}^{(l)}(\mathbf{t}) = 1. \end{cases}$$

Let us recall that the dot denotes the partial derivative with respect to t_l ($1 \leq l \leq M$). For each $1 \leq l \leq M$, assume that

$$\dot{P}_n(x, \mathbf{t}) = \frac{\partial}{\partial t_l} P_n(x, \mathbf{t}) = \sum_{i=0}^{n-1} c_{n,i}^{(l)}(\mathbf{t}) P_i(x, \mathbf{t}), \tag{3.4}$$

where $c_{n,i}^{(l)}(\mathbf{t})$ are functions to be determined. The orthogonality relations imply that

$$\int_K P_n(x, \mathbf{t}) P_i(x, \mathbf{t}) \exp \left(- \sum_{l=1}^M t_l x^l \right) d\mu(x) = 0, \quad 0 \leq i \leq n-1.$$

Differentiating this with respect to t_l , we obtain

$$\begin{aligned} & \int_K [\dot{P}_n(x, \mathbf{t}) P_i(x, \mathbf{t}) + P_n(x, \mathbf{t}) \dot{P}_i(x, \mathbf{t})] \exp \left(- \sum_{l=1}^M t_l x^l \right) d\mu(x) \\ & - \int_K x^l P_n(x, \mathbf{t}) P_i(x, \mathbf{t}) \exp \left(- \sum_{l=1}^M t_l x^l \right) d\mu(x) = 0, \quad 0 \leq i \leq n-1, \end{aligned}$$

which leads to that

$$\int_{\mathbb{R}} \dot{P}_n(x, \mathbf{t}) P_i(x, \mathbf{t}) dv(x, \mathbf{t}) - \int_K x^l P_n(x, \mathbf{t}) P_i(x, \mathbf{t}) dv(x, \mathbf{t}) = 0, \quad 0 \leq i \leq n-1.$$

Using the two expressions (3.2) and (3.4) for $x^l P_n(x, \mathbf{t})$ and $\dot{P}_n(x, \mathbf{t})$ and the orthogonality relations of $\{P_n(x, \mathbf{t})\}_{n=0}^\infty$, it then follows that

$$\begin{cases} c_{n,i}^{(l)}(\mathbf{t}) = r_{n,i}^{(l)}(\mathbf{t}), & \max\{0, n-l\} \leq i \leq n-1, \\ c_{n,i}^{(l)}(\mathbf{t}) = 0, & \text{otherwise.} \end{cases} \quad (3.5)$$

If we denote by $(Q^l)_{SL}$ the strictly lower triangle part of the semi-infinite matrix Q^l , the above equality is equivalent to

$$(c_{n,i}^{(l)}(\mathbf{t})) = (Q^l(\mathbf{t}))_{SL}. \quad (3.6)$$

Therefore, we have

$$\dot{P}_n(x, \mathbf{t}) = \frac{\partial P_n(x, \mathbf{t})}{\partial t_l} = \sum_{i=\max\{0, n-l\}}^{n-1} r_{n,i}^{(l)}(\mathbf{t}) P_i(x, \mathbf{t}), \quad (3.7)$$

which can be written concisely as

$$\dot{P}(x, \mathbf{t}) = (Q^l(\mathbf{t}))_{SL} P(x, \mathbf{t}). \quad (3.8)$$

Let us now start to derive the equations of motion for the zeros of the orthogonal polynomials $P_n(x, \mathbf{t})$. Let $x_{n,k}(\mathbf{t})$, $1 \leq k \leq n$, be n roots of $P_n(x, \mathbf{t})$, that is

$$P_n(x_{n,k}(\mathbf{t}), \mathbf{t}) = 0, \quad 1 \leq k \leq n. \quad (3.9)$$

Differentiating the above equation with respect to t_l , we obtain

$$\frac{\partial}{\partial x} P_n(x, \mathbf{t}) \Big|_{x=x_{n,k}(\mathbf{t})} \frac{\partial x_{n,k}(\mathbf{t})}{\partial t_l} + \dot{P}_n(x_{n,k}(\mathbf{t}), \mathbf{t}) = 0.$$

Therefore, using (3.7), it follows that

$$\frac{\partial x_{n,k}(\mathbf{t})}{\partial t_l} = -\frac{\dot{P}_n(x_{n,k}(\mathbf{t}), \mathbf{t})}{\frac{\partial}{\partial x} P_n(x, \mathbf{t})|_{x=x_{n,k}(\mathbf{t})}} = -\frac{\sum_{i=\max\{0, n-l\}}^{n-1} r_{n,i}^{(l)}(\mathbf{t}) P_i(x_{n,k}(\mathbf{t}), \mathbf{t})}{\frac{\partial}{\partial x} P_n(x, \mathbf{t})|_{x=x_{n,k}(\mathbf{t})}}, \quad (3.10)$$

$1 \leq k \leq n$, where $1 \leq l \leq M$. This is the set of equations of motion which describe the zeros of the time-dependent orthogonal polynomials $P_n(x, \mathbf{t}), n \geq 0$.

Furthermore, using (2.10) and (2.3), we can get

$$\frac{\partial}{\partial x} P_n(x, \mathbf{t})|_{x=x_{n,k}(\mathbf{t})} = a_n(\mathbf{t}) A_n(x_{n,k}(\mathbf{t}), \mathbf{t}) P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t}).$$

On the other hand, using the three term recurrence relation (2.4), we have

$$\begin{bmatrix} P_{n-2}(x_{n,k}(\mathbf{t}), \mathbf{t}) \\ P_{n-3}(x_{n,k}(\mathbf{t}), \mathbf{t}) \\ \vdots \\ P_1(x_{n,k}(\mathbf{t}), \mathbf{t}) \end{bmatrix} = R \begin{bmatrix} P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t}) \\ P_{n-2}(x_{n,k}(\mathbf{t}), \mathbf{t}) \\ \vdots \\ P_2(x_{n,k}(\mathbf{t}), \mathbf{t}) \end{bmatrix}, \quad (3.11)$$

where the square matrix R of order $n-2$ is given by:

$$R = \begin{bmatrix} \frac{x_{n,k}(\mathbf{t}) - \alpha_{n-1}(\mathbf{t})}{\beta_{n-1}(\mathbf{t})} & & & & 0 \\ -\frac{1}{\beta_{n-2}(\mathbf{t})} & \frac{x_{n,k}(\mathbf{t}) - \alpha_{n-2}(\mathbf{t})}{\beta_{n-2}(\mathbf{t})} & & & \\ & \ddots & \ddots & & \\ 0 & & -\frac{1}{\beta_2(\mathbf{t})} & \frac{x_{n,k}(\mathbf{t}) - \alpha_2(\mathbf{t})}{\beta_2(\mathbf{t})} \end{bmatrix}. \quad (3.12)$$

It then follows that

$$P_{n-i}(x_{n,k}(\mathbf{t}), \mathbf{t}) = \varphi_{n,i}(x_{n,k}(\mathbf{t}), \mathbf{t}) P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t}), \quad 1 \leq i \leq n-1, \quad (3.13)$$

where $\varphi_{n,1}(x_{n,k}(\mathbf{t}), \mathbf{t}) = 1$ and $\varphi_{n,i}(x_{n,k}(\mathbf{t}), \mathbf{t}), 2 \leq i \leq n-1$, are recursively determined by using the formula (3.11). Therefore, we can now express (3.10) as

$$\frac{\partial x_{n,k}(\mathbf{t})}{\partial t_l} = -\frac{\sum_{i=1}^{n-\max\{0, n-l\}} \varphi_{n,i}(x_{n,k}(\mathbf{t}), \mathbf{t}) r_{n,n-i}^{(l)}(\mathbf{t})}{a_n(\mathbf{t}) A_n(x_{n,k}(\mathbf{t}), \mathbf{t})}, \quad 1 \leq k \leq n. \quad (3.14)$$

This will hold, provided that $v(x)$ is twice continuously differentiable in K .

In particular, when $l = 1$, noting that

$$\dot{P}_n(x, \mathbf{t}) = \beta_n(\mathbf{t}) P_{n-1}(x, \mathbf{t}), \quad n \geq 1,$$

we have

$$\begin{cases} \frac{\partial x_{1,1}(\mathbf{t})}{\partial t_1} = \frac{\partial \alpha_0(\mathbf{t})}{\partial t_1} = -\beta_1(\mathbf{t}), \\ \frac{\partial x_{n,k}(\mathbf{t})}{\partial t_1} = -\frac{\beta_n(\mathbf{t}) P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t})}{a_n(\mathbf{t}) A_n(x_{n,k}, \mathbf{t}) P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t})} = -\frac{a_n(\mathbf{t})}{A_n(x_{n,k}(\mathbf{t}), \mathbf{t})}, \end{cases} \quad (3.15)$$

where $n \geq 2$ and $1 \leq k \leq n$. Then using (2.12), we arrive at

$$\begin{cases} \frac{\partial x_{1,1}(\mathbf{t})}{\partial t_1} = -\beta_1(\mathbf{t}), \\ \frac{dx_{n,k}(\mathbf{t})}{dt_1} = -\frac{1}{\int_K \left[\frac{v'(x)-v'(y)}{x-y} + \frac{\sum_{s=1}^M sI_s(x^{s-1}-y^{s-1})}{x-y} \right] p_n^2(y, \mathbf{t}) dv(y, \mathbf{t})}, \end{cases} \quad (3.16)$$

where $n \geq 2$, $1 \leq k \leq n$, $d\mu(x) = e^{-v(x)}dx$, and p_n is the n th orthonormal polynomial.

When $l = 2$, note that

$$\begin{cases} \dot{P}_1(x, \mathbf{t}) = \beta_1(\mathbf{t})(\alpha_1(\mathbf{t}) + \alpha_0(\mathbf{t})), \\ \dot{P}_n(x, \mathbf{t}) = \beta_n(\mathbf{t})\beta_{n-1}(\mathbf{t})P_{n-2}(x, \mathbf{t}) + \beta_n(\mathbf{t})(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t}))P_{n-1}(x, \mathbf{t}), \end{cases} \quad (3.17)$$

where $n \geq 2$. So for $n \geq 2$, we can compute that

$$\begin{aligned} \frac{\partial x_{n,k}(\mathbf{t})}{\partial t_2} &= -\frac{a_n(\mathbf{t})\beta_{n-1}(\mathbf{t})P_{n-2}(x_{n,k}(\mathbf{t}), \mathbf{t})}{A_n(x_{n,k}(\mathbf{t}), \mathbf{t})P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t})} - \frac{a_n(\mathbf{t})(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t}))}{A_n(x_{n,k}(\mathbf{t}), \mathbf{t})} \\ &= -\frac{a_n(\mathbf{t})}{A_n(x_{n,k}(\mathbf{t}), \mathbf{t})} \left[(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})) + \beta_{n-1}(\mathbf{t}) \frac{P_{n-2}(x_{n,k}(\mathbf{t}), \mathbf{t})}{P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t})} \right] \\ &= -\frac{a_n(\mathbf{t})}{A_n(x_{n,k}(\mathbf{t}), \mathbf{t})} \left[(\alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})) + \beta_{n-1}(\mathbf{t}) \frac{x_{n,k}(\mathbf{t}) - \alpha_{n-1}(\mathbf{t})}{\beta_{n-1}(\mathbf{t})} \right] \\ &= -\frac{\alpha_n(\mathbf{t}) + x_{n,k}(\mathbf{t})}{\int_K \left[\frac{v'(x)-v'(y)}{x-y} + \frac{\sum_{s=1}^M sI_s(x^{s-1}-y^{s-1})}{x-y} \right] p_n^2(y, \mathbf{t}) dv(y, \mathbf{t})}. \end{aligned}$$

In the last step above, we have used

$$\frac{P_{n-2}(x_{n,k}(\mathbf{t}), \mathbf{t})}{P_{n-1}(x_{n,k}(\mathbf{t}), \mathbf{t})} = \frac{x_{n,k}(\mathbf{t}) - \alpha_{n-1}(\mathbf{t})}{\beta_{n-1}(\mathbf{t})},$$

which is a consequence of the three term recurrence relation (2.4). Thus, we arrive at

$$\begin{cases} \frac{\partial x_{1,1}(\mathbf{t})}{\partial t_2} = -\beta_1(\mathbf{t})(\alpha_1(\mathbf{t}) + \alpha_0(\mathbf{t})), \\ \frac{\partial x_{n,k}(\mathbf{t})}{\partial t_2} = -\frac{\alpha_n(\mathbf{t}) + x_{n,k}(\mathbf{t})}{\int_K \left[\frac{v'(x)-v'(y)}{x-y} + \frac{\sum_{s=1}^M sI_s(x^{s-1}-y^{s-1})}{x-y} \right] p_n^2(y, \mathbf{t}) dv(y, \mathbf{t})}, \end{cases} \quad (3.18)$$

where $n \geq 2$ and $1 \leq k \leq n$.

Example 1. Let $M = 1$ and thus $\mathbf{t} = t_1 \equiv t$. Choose $K = \mathbb{R}$ and $v(x) = x^4$. Then

$$\begin{aligned}
\frac{A_n(x, \mathbf{t})}{a_n(\mathbf{t})} &= \int_{-\infty}^{\infty} \frac{v'(x) - v'(y)}{x - y} p_n^2(y, \mathbf{t}) dv(y, \mathbf{t}) \\
&= 4 \int_{-\infty}^{\infty} (x^2 + xy + y^2) p_n^2(y, \mathbf{t}) dv(y, \mathbf{t}) \\
&= 4[x^2 + a_{n+1}^2(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + a_n^2(\mathbf{t}) + x\alpha_n(\mathbf{t})]
\end{aligned}$$

$$\begin{aligned}
\frac{B_n(x, \mathbf{t})}{a_n(\mathbf{t})} &= \int_{-\infty}^{\infty} \frac{v'(x) - v'(y)}{x - y} p_n(y, \mathbf{t}) p_{n-1}(y, \mathbf{t}) dv(y, \mathbf{t}) \\
&= 4 \int_{-\infty}^{\infty} (x^2 + xy + y^2) p_n(y, \mathbf{t}) p_{n-1}(y, \mathbf{t}) dv(y, \mathbf{t}) \\
&= 4a_n(\mathbf{t})[x + \alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})].
\end{aligned}$$

Therefore, the zeros $x(\mathbf{t}) = x_{n,k}(\mathbf{t})$, $1 \leq k \leq n$, of $P_n(x, \mathbf{t})$ satisfy the following differential equation:

$$\frac{dx(\mathbf{t})}{dt} = -\frac{1}{4[x^2(\mathbf{t}) + a_{n+1}^2(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + a_n^2(\mathbf{t}) + x(\mathbf{t})\alpha_n(\mathbf{t})]}. \quad (3.19)$$

Example 2. Let $M = 2$ and thus $\mathbf{t} = (t_1, t_2)$. Consider the same choice of $K = \mathbb{R}$ and $v(x) = x^4$ as in Example 1. Obviously

$$\begin{aligned}
\frac{A_n(x, \mathbf{t})}{a_n(\mathbf{t})} &= 4[x^2 + a_{n+1}^2(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + a_n^2(\mathbf{t}) + x\alpha_n(\mathbf{t})] + 2t_2, \\
\frac{B_n(x, \mathbf{t})}{a_n(\mathbf{t})} &= 4a_n(\mathbf{t})[x + \alpha_n(\mathbf{t}) + \alpha_{n-1}(\mathbf{t})].
\end{aligned}$$

If $n = 1$, there is only one zero $\alpha_0(\mathbf{t})$ of $P_1(x, \mathbf{t}) = x - \alpha_0(\mathbf{t})$. Obviously, from (2.8) and (2.9), we have

$$\frac{\partial x_{1,1}(\mathbf{t})}{\partial t_1} = \frac{\partial \alpha_0(\mathbf{t})}{\partial t_1} = -\beta_1(\mathbf{t}), \quad \frac{\partial x_{1,1}(\mathbf{t})}{\partial t_2} = \frac{\partial \alpha_0(\mathbf{t})}{\partial t_2} = -\beta_1(\mathbf{t})(\alpha_1(\mathbf{t}) + \alpha_0(\mathbf{t})). \quad (3.20)$$

If $n \geq 2$, then the zeros $x(\mathbf{t}) = x_{n,k}(\mathbf{t})$, $1 \leq k \leq n$, of $P_n(x, \mathbf{t})$ satisfy the following set of differential equations:

$$\begin{aligned}
\frac{\partial x(\mathbf{t})}{\partial t_1} &= -\frac{1}{4[x^2(\mathbf{t}) + a_{n+1}^2(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + a_n^2(\mathbf{t}) + x(\mathbf{t})\alpha_n(\mathbf{t})] + 2t_2}, \\
\frac{\partial x(\mathbf{t})}{\partial t_2} &= -\frac{\alpha_n(\mathbf{t}) + x(\mathbf{t})}{4\{[x^2(\mathbf{t}) + a_{n+1}^2(\mathbf{t}) + \alpha_n^2(\mathbf{t}) + a_n^2(\mathbf{t}) + x(\mathbf{t})\alpha_n(\mathbf{t})] + 2t_2\}}.
\end{aligned} \quad (3.21)$$

We also point out that starting from the zeros, we can have the following representation for solutions to the Toda lattices:

$$\begin{cases} \alpha_n(\mathbf{t}) = \frac{x_{n-1,k}(\mathbf{t})P_n(x_{n-1,k}(\mathbf{t}),\mathbf{t}) - P_{n+1}(x_{n-1,k}(\mathbf{t}),\mathbf{t})}{P_n(x_{n-1,k}(\mathbf{t}),\mathbf{t})}, \\ \beta_n(\mathbf{t}) = -\frac{P_{n+1}(x_{n,k}(\mathbf{t}),\mathbf{t})}{P_{n-1}(x_{n,k}(\mathbf{t}),\mathbf{t})}, \end{cases} \quad (3.22)$$

where k can be any integer between 1 and M . So the zeros can provide direct information on the corresponding solutions to the Toda lattices. However, there are other solutions to the Toda lattices which are not generated from the orthogonal polynomials (see Maruno K et al., 2004; Ma and You, 2004 for examples in the case of the Toda lattice).

Acknowledgments

We thank Mahmoud Annaby for his detailed comments on this work. This work was supported in part by the University of South Florida Internal Awards Program under Grant No. 1249-936RO.

References

- Adler M, van Moerbeke P. Matrix integrals, Toda symmetries, Virasoro constraints, and orthogonal polynomials. *Duke Math J* 1995;80:863–911.
- Andrews GE, Askey R, Roy R. Special functions, encyclopedia of mathematics and its applications 1999;vol. 71. Cambridge: Cambridge University Press; 1999.
- Chen YY, Ismail MEH. Ladder operators and differential equations for orthogonal polynomials. *J Phys A Math Gen* 1997;30:7817–29.
- Chen YY, Ismail MEH, Van W. Assche Tau-function constructions of the recurrence coefficients of orthogonal polynomials. *Adv Appl Math* 1998;20:141–68.
- Deift PA. Orthogonal Polynomials and Random Matrices: a Riemann-Hilbert Approach. *Courant Lecture Notes in Mathematics* 1999;3. Providence, RI: American Mathematical Society; 1999, reissued by.
- Ismail MEH. Discriminants and functions of the second kind for orthogonal polynomials. *Results Math* 1998;34:132–49.
- Ismail MEH. An electrostatics model for zeros of general orthogonal polynomials. *Pacific J Math* 2000;193:355–69.
- Ismail MEH. Classical and quantum orthogonal polynomials in one variable. Cambridge: Cambridge University Press; 2005.
- Maruno KK, Ma WX, Oikawa M. Generalized Casorati determinant and positon-negaton-type solutions of the Toda lattice equation. *J Phy Soc Jpn* 2004;73:831–7.
- Ma WX, You Y. Rational solutions of the Toda lattice equation in Casoratian form. *Chaos, Solitons and Fractals* 2004;22:395–406.
- Szegő, G., 1975. Orthogonal Polynomials, Fourth edition, American Mathematical Society, Colloquium Publications vol. XXIII, American Mathematical Society: Providence.
- Toda M. Theory of Nonlinear Lattices. second ed. Springer series in solid-state sciences 1989;20. Berlin: Springer-Verlag; 1989.